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OCL

I U0U0O0OOOOb xor (b2 : Boolean) : Boolean] [ 0 [
00

I post: (b or b2) and not (b = b2)
1 UUO0O0dgon
I not self.oclType.allSupertypes->includes(self)
I sequence->append (object: T) : Sequence(T)U U U [
L] [
I post: (result->size = sequence->size + 1) and
I (result->at(result->size) = object) and
I (Sequence{l..sequence->size}->forAll(index : Integer |
I [ O result->at(index) = sequence ->at(index)))
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OCL

I 000000000 ddoooooooooood
I context OO inv:
| selfJO00.000000 =00000 Oself0000.0000.000
I JU0doo0oooooooddooooooondn
I 0 0O ->intersection(d O O O O )->IsEmpty
i U0ddooad
I 0 0O->collect(d O)->sum >= [ [0 ->sizel] 0 00 0 O
I 0O0O.00->sum >=[] [ ->size
i1 00000000 oogn
| 00.0000->size=00.0000->asSet->size
i1 00000000 oogn
| O0O->select(U 000 =#000).00 >=
I O0->select(U 0 00.0000 =#000)->size
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context U Uyt i:

J0dde.:ooooo,f=10:4d): 04
post: if e.J O [ =6 < =10 then
fed0=0=0 thenreturn=0000(f-e.000)
else --000O0O00OO0OO0OOO0OO0OO0OOOOO0OOOOO
return=8=0000((.000=6+f=10-2*e.00 00 =4)
endif
elseife.d 00 =fthenreturn=20
elseife.dd=0 thenreturn=0000 (e.0 00O -f)
else -J0000O00O0O0OO0OOO0OO0OOLOOO0OO0OOOOO
return=0000QR*e 000 -e000 +1)
endif

endif
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context U Uyt i:

JO0dOe:00o0oo,f=10:0):00
post: if e.d O J =15 < f=10 then
fe.d0=0 thenreturn=0000(f-e.000)
else --000O0O00OO0OO0OOO0OO0OO0OOOOO0OOOOO
return=0000.000 +f-2*e.000)
endif
else if e.0 J 00 =15 =f =10 then return =0
elseife.d =0 =0 thenreturn=0000 (e.0 00O -f)
else -J0000O00O0O0OO0OOO0OO0OOLOOO0OO0OOOOO
return=35=0000R*e000=20-e.000=15+1=10)

endif 0goooQ
endif
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